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1 ¦e�¼ê�Fp�È©úªµ

(1) f(t) =

{
1− t2, |t| < 1,
0, |t| > 1;

(2) f(t) =

{
e−t sin 2t, t > 0,
0, t < 0;

(3) f(t) =

 −1, −1 < t < 0,
1, 0 < t < 1,
0, Ù¦.

2 ¦e�¼ê�Fp�C�µ

(1) f(t) =

{
1− |t|, |t| 6 1,
0, |t| > 1;

(2) f(t) =

{
E, 0 6 t 6 τ ,
0, Ù¦

(E, τ > 0);

(3) f(t) =


e−t, |t| < 1

2
,

0, |t| > 1

2
;

(4) f(t) = 1√
2πσ

e−
t2

2σ2 ;

(5) f(t) =

{
e−t sin t, t > 0,
0, t 6 0;

(6) f(t) =


0, t < −1,
−1, −1 6 t < 0,
1, 0 6 t < 1,
0, t > 1.

3 ¦e�¼ê�Fp�C�µ

(1)
1

1 + t2
;

(2) te−a|t|(a > 0).

4 ¦e�¼ê�Fp�C�µ

(1) f(t) = e−αtu(t) · sinω0t (α > 0);

(2) f(t) = e−αtu(t) · cosω0t (α > 0);

(3) f(t) = eiω0tu(t− t0).

5 ¦e�¼ê�òÈµ

(1) f1(t) = u(t), f2(t) = e−αtu(t);
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(2) f1(t) = e−αtu(t), f2(t) = sin t · u(t);

(3) f1(t) = e−tu(t), f2(t) =

{
sin t, 0 < t <

π

2
,

0, Ù¦.

6 ¦e�¼ê�.Ê.dC�µ

(1) f(t) =

 3, 0 6 t < 2,
−1, 2 6 t < 4,
0, t > 4;

(2) f(t) =

{
t+ 1, 0 < t < 3,
0, t > 3;

(3) f(t) =


3, t <

π

2
,

cos t, t >
π

2
.

7 ¦e�¼ê�.Ê.dC�µ

(1) f(t) = 1− tet;

(2) f(t) =
t

2a
sin at;

(3) f(t) =
sin at

t
;

(4) f(t) = 5 sin 2t− 3 cos 2t;

(5) f(t) = e−2t sin 6t;

(6) f(t) = u(3t− 5);

(7) f(t) =
e3t√
t
;

(8) f(t) = u(1− e−t);

(9) f(t) = e−5t
∫ t

0

sin 2τ

τ
dτ ;

(10) f(t) = t2
∫ t

0

e−4τ sin 2τdτ .

8 ¦e�¼ê�.Ê.d_C�µ

(1) F (s) =
1

s2 + 4
;

(2) F (s) =
1

s4
;

(3) F (s) =
1

(s+ 1)4
;
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(4) F (s) =
1

s+ 3
;

(5) F (s) =
2s+ 3

s2 + 9
;

(6) F (s) =
s+ 3

(s+ 1)(s− 3)
;

(7) F (s) =
s+ 1

s2 + s− 6
;

(8) F (s) =
2s+ 5

s2 + 4s+ 13
.

9 ¦e�¼ê�.Ê.d_C�µ

(1) F (s) =
1

(s2 + 4)2
;

(2) F (s) =
2s+ 1

s(s+ 1)(s+ 2)
;

(3) F (s) =
1

s4 + 5s2 + 4
;

(4) F (s) = ln
s2 − 1

s2
;

(5) F (s) =
1 + e−2s

s2
;

(6) F (s) =
2s3 + 10s2 + 8s+ 40

s2(s2 + 9)
;

(7) F (s) =
s2 − 3

(s+ 2)(s− 3)(s2 + 2s+ 5)
.

10 ¦e��©�§(|)Ð�¯K�)µ

(1) x′′ + k2x = 0, x(0) = A, x′(0) = B;

(2) x′′ + 4x′ + 3x = e−t, x(0) = x′(0) = 1;

(3) x(4) + 2x′′′ − 2x′ − x = δ(t), x(0) = x′(0) = x′′(0) = x′′′(0) = 0;

(4)

{
x′ + x− y = et,
3x+ y′ − 2y = 2et,

x(0) = y(0) = 1.
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